[ Efficiency vs vertpos |

efficiency vs vert r

Ratio

0.

o))

0.5

0.4

0.3

0.2

0.1

°’7E‘"}'{ﬁ#{éﬂﬂ;ﬁﬁﬁﬁfﬁfffffﬁ?ﬁfffff

o b -
-
vk i I =
1l & a4t ||| | :
1 : :
nf : ||| I;
0.95

1072 107 1

10 0?
TP vertr (cn%)

—=— DQM_original_originalvector_1000evt

— —e— DQM_original_1000evt
Efficiend . pom fitted4_1000evt

efficiency vs vert z

Ratio

0.8

0.7

0.6

0.5

0.4

0.3

0.2F i

0.1

fa)

1.9

:“Inm.a..ul””e

!

:||||IIII'IEIIIII||||F

093520 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

efficiency vs Sim. PV z

Ratio

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

0

.U

T

095515 -10 5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


